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Correct Marks: 4 WrongMarks: 1
Let I, r, c and v represent inductance,
resistance, capacitance and voltage,

respectively. The dimension of — in SI
' rco

units will be :
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Two particles A, B are moving on two
concentric circles of radii Ry and R, with
equal angular speed w. At t=0, their
positions and direction of motion are
shown in the figure :
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The relative velocity v, —vg at t= E is
given by :
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A block kept on a rough inclined plane, as
shown in the figure, remains at rest upto a
maximum force 2 N down the inclined
plane. The maximum external force up the
inclined plane that does not move the block
is 10 N. The coefficient of static friction
between the block and the plane is:

[Take g =10 m/s°]
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An alpha-particle of mass m suffers
1-dimensional elastic collision with a
nucleus at rest of unknown mass. It is
scattered directly backwards losing, 64% of
its initial kinetic energy. The mass of the
nucleus is :

Options:
41652938934, 4m

41652938935, o0 M

41652938936, 2M

41652938937, oM
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A particle of mass 20 g is released with an
initial velocity 5 m/s along the curve from
the point A, as shown in the figure. The
point A is at height h from point B. The
particle slides along the frictionless surface.
When the particle reaches point B, its
angular momentum about O will be :

(Take g=10 m/s?)
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The moment of inertia of a solid sphere,
about an axis parallel to its diameterand at
a distance of x from it, is ‘I(x)". Which one
of the graphs represents the variation of I{x)
with x correctly ?

Options:
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Two satellites, A and B, have masses m and
2m respectively. A is in a circular orbit of
radius R, and B is in a circular orbit of radius
2R around the earth. The ratio of their
kinetic energies, T /Ty, is :

Options:
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A long cylindrical vessel is half filled with
a liquid. When the vessel is rotated about
its ownvertical axis, the liquid rises up near
the wall. If the radius of vessel is5 cm and
its rotational speed is 2 rotations per
second, then the difference in the heights
between the centre and the sides, in cm, will
be :

Options:
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416529380951, 01
41652038052, 20

41652938053, 1.2
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A soap bubble, blown by a mechanical
pump at the mouth of a tube, increases in
volume, with time, at a constant rate. The
graph that correctly depicts the time
dependence of pressure inside the bubble
is given by :
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A vertical closed cylinder is separated into
two parts by a frictionless piston of mass
m and of negligible thickness. The piston
is free to move along the length of the
cylinder. The length of the cylinder above
the pistonis [, and that below the piston is
l,,suchthatl, >1,. Each part of the cylinder
contains n moles of an ideal gas at equal
temperature T. If the piston is stationary,
its mass, m, will be given by :

(R is universal gas constant and g is the
acceleration due to gravity)

Options:
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An ideal gas is enclosed in a cylinder at
pressure of 2 atm and temperature, 300 K.
The mean time between two successive
collisions is 6x 10 % s, If the pressure is
doubled and temperature is increased to
500 K, the mean time between two
successive collisions will be
close to:
Options:

6
41652938962, 2x107"s

. 7
41652938963, 2%1077s



. 8
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A simple harmonic motion is represented
by :

y = 5(sindrt + J3 cos3t) cm

The amplitude and time period of the
motion are :

Options:

415525938566, =

416525938967,
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10cm, — s
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A resonance tube is old and has jagged end.
[tis stillused inthe laboratory to determine
velocity of sound in air. A tuning fork of
frequency 512 Hz produces first resonance
when the tube is filled with water to a mark
11 cm below a reference mark, near the
open end of the tube. The experiment is
repeated with another fork of frequency
256 Hz which produces first resonance
when water reaches a mark 27 cm below
the reference mark. The velocity of sound
in air, obtained in the experiment, is close
Lo :

Options:
1
41652938970, J20 MS

1
41652938571, 200 MS

41652938972, 322ms !
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A parallel plate capacitor with plates of
area 1 m? each, are at a separation of (.1 m.

[f the electric field between the plates is 100
N/C, the magnitudeof charge on each plate

15 :
C*
(Take ¢,=8.85x10"12 ——)
N—m
Options:

41652938974, 6.85x1010 C
10
41852038075, /-80x10 C

10
41652938076, 582X1W~H C

41652935977 985x10710 C
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In the circuit shown, find C if the effective
capacitance of the whole circuit is to be
0.5 wFE. All values in the circuit are in pF .
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In the given circuit diagram, the currents,
I,=-03A,1[;,=08 A and [;=04 A, are
flowing as shown. The currents [, I, and
I{.}, respectively, are :
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41652938982, 1A, —04A,04A
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In the above circuit, C= T wF, Rz =201},
3
[i= % Hand R;=10(} . Currentin

L-R, pathis I; and in C-R, pathitis I,. The
voltage of A.C source is given by,
V = 200+/2sin (100 ) volts. The phase
difference between I, and I, is:

Options:
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A galvanometer, whose resistance is
50 ohm, has 25 divisions in it. When a
currentof 4 x 10 4 A passes through it, its
needle (pointer) deflects by one division.
To use this galvanometer as a voltmeter of
range 2.5 V, it should be connected to a
resistance of :

Options:

>
41652938990, 0220 ohm

41652938991, 0200 ohm

¥
41652938992 200 chm

41652038993, 200 chm
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41652938993, 200 ohm
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A paramagnetic material has 1028
atoms/m°. Its magnetic susceptibility at
temperature 350 K is 2.8 x 10~ 4. TIts
susceptibility at 300 Kis :

Options:
416520938904, 2.726 x10

z 4
41652938995, 267 %10
: 4
41652938995, 207210
3672 %104
41652935997,
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A 10 m long horizontal wire extends from
North East to South West. It is falling with
a speed of 5.0 ms L at right angles to the
horizontal component of the earth’s
magnetic field, of 0.3 <10 4 Wb/m?2. The
value of the induced emf in wire is :

Options:



41652938995, 1.1x107°V

p 3y
41652838899, 22 <1077V

o 3
41652939000, L2 X107°V

3
41652939001, U2 *107°V
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41652938998, 11x107°V
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3
41652930001, 03XV
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The mean intensity of radiation on the
surface of the Sun is about 108 W/m? The
rms value of the corresponding magnetic
field is closest to :

Options:

41652930002, 1074T

2

41652039003, 10 T
41652039004, 11
.

41652939005, 10°T

Question Number : 21 Question Id : 4165299886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



4 =i Uae T fafeor &1 | dismn e
108 W/m2 ¥ | o1 T =13 &3 1 ey
W= -He | BT

Options:

41652939002, 1074T

2

41652039003, 10 T
41652939004, 11
.

41652939005, 10T

Question Number : 22 Question Id : 4165299887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A plano-convex lens (focal length f,,
refractive index p,, radius of curvature R)
fits exactly into a plano-concave lens (focal
length I,I"t, refractive index Vo radius of
curvature R). Their plane surfaces are
parallel toeach other. Then, the focal length
of the combination will be :

Options:

41652939006, 1112

h-F
41652939007, .
2f1 f>
r
41652939008, fepe
E
2 Hq
41652939009,

Question Number : 22 Question Id : 4165299887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e FHA-390 o (FIHE g f,, ATEdiS
1y, TRl =1 R) U gHde-HAgad o4
(I 1 f,, AT o, Tl BT R)
3T &2 T T STF HAEAA S U L F
TR T | 59 WA F1 WEE o 20

Options:



41652939008, -
h—f
41652939007, .
2/ 56
}
ITTR—
E
Lo =
41652939009,

Question Number : 23 Question Id : 4165299888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Formation of real image using a biconvex
lens is shown below :

sCreen

If the whole set up is immersed in water
without disturbing the object and the screen
positions, what will one observe on the

screen 7

Options:

41652939010, Vo change
41652039011, Magnified image
41652039012 |mage disappears
41652039013, Crectrealimage

Question Number : 23 Question Id : 4165299888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



TF IHEMA ©iF H UF GrAiEas gidiEd &F
T4 %1 Fa | S T R

SCreen

g 1 7S i feufa = fam foataa 59 53
Huf Hara 1 afs o § gen fem o @1, v

o2 = fawgm ?
Options:
41652939010, iR Tﬁﬁ

41652939011, 3 e wfaf

giafaa T 21 SEm
41652939012

F (erect) ATEATEE Alafaw=
41652933013,

Question Number : 24 Question Id : 4165299889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
When a certain photosensistive surface is
illuminated with monochromatic light of
frequency v, the stopping potential for the
photo currentis —V,/2. When the surface
is illluminated by monochromatic light of
frequency v/2, the stopping potential is
V. The threshold frequency for
photoelectric emission is :

Options:
41652939014 2"
Sv
41652939015, 2
4
gl
3
41652939016,
.31.-
2

4165259233017,



Question Number : 24 Question Id : 4165299889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

JeRT91 GRT TeRIT9TE =1 STl & o WehTo1 < S
=1 T fas@ -V, /23 81 9 92 T
v/2 AGH & THAT THA G FHE H
W & o e fase - v, TS # 1 -

Options:
41650939014, 2V
5v
41652939015,
4
—
3
41652939016,
.31!
2
41652939017,

Question Number : 25 Question Id : 4165299890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In a Frank-Hertz experiment, an electron
of energy 5.6 eV passes through mercury
vapour and emerges with an energy 0.7 eV.
The minimum wavelength of photons
emitted by mercury atoms is close to :

Options:
41652939018, 220nm

41652939019, 2020 nm

41652930020, 1700 nm

2
4165259239021, Zolnn

Question Number : 25 Question Id : 4165299890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



TF eF-2<d WATT % SRH, 5.6 eV el &
T Torged U & A H TR F0.7 eV F
Tl o WY R T €1 TR T g
Ieafad FRMA F g9 qesd 1 JiEawe
HH BF1

Options:

41652939018, 220nm

41652939019, 2020 nm

41652930020, 1700 nm

i
41650939001, 220 nM

Question Number : 26 Question Id : 4165299891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In a radioactive decay chain, the initial

) EESETh :
nucleus is go'™- At the end there are 6

a-particles and 4 p-particles which are

; . A
emitted. If the end nucleus is ?X , A and
Z are given by :
Options:

41652939022 A= 202; Z=80

41652939023, A= 208; Z=82

41652939024, A= 208; Z=80

41652930025, (1= 2005 Z=81

Question Number : 26 Question Id : 4165299891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
fordl we ean-ufges & saen H Rfys
AT Zii}Th AR Fd 6 o-F0 TH
4 P~ Sewfed BT 8 -m:rrfﬁ’;x%ﬁi,
A 3R Z % | 2

Options:



41652939022, A= 202;Z=80

41652939023, A= 208; Z=82

41652930024, A= 208; Z=80

41650939025, = 200; Z=8l

Question Number : 27 Question Id : 4165299892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

B d
N E A
E A 2P

In the figure, given that VEB supply can
vary from 0 to 50 V, V=5V, B,.=200,
Rz=100 Kk, Re-=1 k1) and
Ve =1.0V, The minimum base current and
the input voltage at which the transistor
will go to saturation, will be, respectively :

Options:
41652930026, 22 kA and 3.5V

41652039027, 20 pAand 2.8V

41652939028, 22 kA and 2.8V

':l- -
4165293029, 20 MAand 3.5V

Question Number : 27 Question Id : 4165299892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Rg 7 =
.-".,u"'-,."-."" "FL_ < 1({‘
\_\:. E

e

"
=T

femrd 4 f93 8 Vi, B9 0 95,0 V 7 =ed
w8, Vea=5 V, B,.=200,

Rg=100 kQ, R.=1kQ 3T V. =1.0 V
=[AaH YR 9w a9 FEvh faea, T w

Zifeet Hgia o1aeen § vgd 94, F99: a0

Options:

41552833026,

418529339027,

416525933025,

4165259233029,

25 nA 35V
20 pA A28V
25 uA 2.8V

20 pA FHT35V

Question Number : 28 Question Id : 4165299893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

To double the covering range of a TV
transmittion tower, its height should be
multiplied by :

Options:

41652939030, 2

41652930031, 4

41852939032,

1
E

415525933033,

Question Number : 28 Question Id : 4165299893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TE 2181, THEY R F R WE 5 EA
FT F 10 9T F=E FT A5 B0



Options:

2
41652939030, T

41652939031, * ON

41652833032,

4165259233033,

Question Number : 29 Question Id : 4165299894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A load of mass M kg is suspended from a
steel wire of length 2 m and radius 1.0 mm
in Searle’s apparatus experiment. The
increase in length produced in the wire is
4.0 mm. Now the load is fully immersed in
a liquid of relative density 2. The relative
density of the material of load is 8.

The new value of increase in length of the
sleel wire is ¢

Options:

41652939034, +0 mm
41652939035, -0 mm
41652930036, 2910

41652939037, 2-U mm

Question Number : 29 Question Id : 4165299894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hel ITH % UH FA H, M kg BHTH &
ﬁWﬁF.Emﬂﬁﬂﬁﬁﬂﬂl.DmLﬂﬁW%
TF WId % O Y TH ¢ | AR HI = o
-—l.ﬂmnﬁlﬁqﬁﬁﬁ%l e litge ol iten
T 2 A6 59 H 291 9 €1 9R F e
SATfeFa B 8 T AR I g H giG
41 9 B

Options:

41652939034, +0 mm



41652939035, 3.0 mm

41652930036, 2919

41652939037, 2-U mm

Question Number : 30 Question Id : 4165299895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The charge on a capacitor plate in a circuit,
as a function of time, is shown in the
figure :

L
%

o -
[ ]

2 e

Whatis the value of current att=4s ?
Options:
41652939038, 0 BA

41650039030, 10 B4

41652939040, 2 MA
FEeTO

41652939041,

Question Number : 30 Question Id : 4165299895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T U9y § G +1 w2 92 A9 5, 994
& 1Y, Ford foa ¥ femman T 21 t=4s W

] 1 | 1 2 7

ﬁ -

5 /_/

41 P
qlme) 31 . . i

21 i e

0 -~ I : ?

2 1 ) 6 8
Options:

41652939038, < BA



1.5 pA

416529390339,
41652039040, 2 MA
ZETO
41652939041,
Cherrstry
Section Id : 416529152
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 416529161
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 4165299896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction
15 :

CH,CH,CH - CH, (i) KOH alc.
I

| = =
Br Br {11:]I NE[P\HZ

in qu NH;4

Options:
AitEsusgnds CHgUH=CHCHINE,
41652930043, CHaCH=C=CH,

CH3CH,CH —CHy
41652939044, NH; NH;

CH,CH,C=CH

41652939045,

Question Number : 31 Question Id : 4165299896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Frefatas afufFn w1 g2 3= 7

CH,CH,CH—CH, (i) KOHalc.
L e
By e (i1) NaNH,

in lig NHy

Options:
AiEssysaas SRt =CHCHNED
41650030043, HaCH=C=CH,

CH3CH,CH —CH,
41652939044, NH; NH;

CH,CH,C=CH

41652939045

Question Number : 32 Question Id : 4165299897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The two monomers for the synthesis of
Nylon 6, 6 are :

Options:
HOOC(CH,),COOH,

4155259233045, HEN(EHE]&NHE

HOOC(CH,),COOH,
41652930047, HoN(CH3)4NH,

HOOC(CH,),COOH,

4155258230458, HEN(CHE]ENHE

HOOC(CH,),COOH,

41652939049 2N (CHy)NH,

Question Number : 32 Question Id : 4165299897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A= 6, 6 F T & o 21 UheT® ©

Options:
HOOC(CH,),COOH,
41652939046, HEN(CHE]&NHE
HOOC(CH,),COOH,

41652930047, HaN(CH,)4NH,



HOOC(CH, ] COOH,
)eINH

41650930045, T2N(CH,
HOOC(C Hz}{}CDDH,
41652930040, 12N (CHY) NH,

Question Number : 33 Question Id : 4165299898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction
15 :

II:}C T ’O“ L -”'"-’“'H"x e

O [
(i) NaNO,/H*
(i) CrO4/H™* *
(iii) H,50, (conc.), A
Options:
D ",
e "'-._
HO " ’::::;*.;,I\(/".
41652939050, g
HO. =~ "™
[H‘:th #,|r _\I:\
41652939051, ¥ O
0.
CH3~. O .,»_:-:J:"I B
Tl 7 |
41652939052, g
EHS“ e ’G"‘-.. = R, /’f “‘k
[ # |
D |
"%‘:
41652959053,

Question Number : 33 Question Id : 4165299898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



(i) NaNO,/H*

w

(i) CrOy/H™
(iif) H,50y (conc.), A
Options:
O
II ll'lll
HD\._;;::::;\(K
::M -._-___,.-
41552939050, i
HO. .__;;:::-'a.m.r/“m
41652939051, b O
=
CHS '\-\.._\_\_ E -PD'\-\.__. --_l:::_._-__-'i-l /
il - |
O e
41529239052, -
EH:’;’]‘ " % -___.--C:I\.\_L __..___-'Ziﬁ::l‘""-n_ .f/_’./\‘\‘_\\l
) 1 |
:-'h:-:;-\. T F
o O
41552939053,

Question Number : 34 Question Id : 4165299899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct structure of histidine in a
strongly acidic solution (pH=2) is :
Options:

HyN—-CH-COO

fic &

41652939054 N



HyN—CH—COOH

~—NH
I \
:\:"x z__,-;‘}"
'\.Nf::
41652939055, H
H;N—CH—-COOH
L &
~—NH,
T
41652939056, N
&+ c

+—NH
/o
e P
oy
N®
H

41852939057,

Question Number : 34 Question Id : 4165299899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TS 9% A foeEd (pH=2) |, fF=EA
T Tl T ¥

Options:
HyN—-CH-COO
R
[ 5
M““N ,._/ff
416529339054,

H3N—CH—COOH

415525933055, H



H,N —CH—COOH

7 NHz

", -
416525923056, N

416525933057,

Question Number : 35 Question Id : 4165299900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction

15 :
il

I/.-'f/ -‘"\-\_' NEBH4

\ / EtOH

Options:
OH

41652939058, —!
OH
o~

41652939059,  =—/
O
H
x{.-' k.\'

41652939080, —
OH
i
7N

OFEt
41652939061,

Question Number : 35 Question Id : 4165299900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Frefarfaa sifufman =1 g sae &
O
NaBH,

_
\ _/ EtOH

Options:

41652939058, ——

41652939059, =—/

41652939060, —

4155258233061,

Question Number : 36 Question Id : 4165299901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The aldehydes which will not form
Grignard product with one equivalent
Grignard reagents are :

_#~._CHO

@ 1]
_#~._CHO
(B) ‘ ]
Hch "'\-\._:H-____.-
_A~_-CHO
(© ,[ |
H;CO~
#~._-CHO
(D) S
HDHE{' e



Options:

41652939062, (B): (©)

416525939063, (B). (D)

41652930064, (B) (©) (D)

) (B
41552333065, SAL

Question Number : 36 Question Id : 4165299901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U HHge =R AT TEa o 99 fi=m 3de

;f““ ,CI O
@ ||
(B) 38 I

HO,C™ ™=
© |

H?CD - R e

__:_,:_f_:.’: e JCHO

(D) 1

HOI |2f_-’} g

Options:

41652939062, (B) (©)

41E5259330E3. (B), (D)

41852933064, (B). (©). (D)

) (B
416525933065, AR

Question Number : 37 Question Id : 4165299902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The increasing order of the reactivity of the
following with LiAIH is :

9]
M

A
(A) CHs”~  “NH,
0
(B) /MK
CzHﬁ'z \OCH:'.,
O
(C) /JJ\
CHs” (I
O O
D) o NN
C,Hs” 0 C,Hs
Options:

41652939086, () < (B)<(C)<(D)

41652939067, (B) <(A)<(D) <(C)
41850039068, (A) < (B)<(D)<(Q

416529390689, (B) < (A)<(C)<(D)

Question Number : 37 Question Id : 4165299902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
frefafaa 1 LiAIH, = @y sAfafmamsiera
F1 e FH ©

Iy

A) CH:” NH,
0
() C2H5")l “NOCHS;
i
() CEHSJ/’ R
1 A
O " SN0 NoH;
Options:

41652939086, () < (B)<(C)<(D)

41652939067, (B) <(A)<(D) <(C)



41652930068, (A) < (B) <(D)<(C)

41652939069, (B)<(A)<(C)< (D)

Question Number : 38 Question Id : 4165299903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction

15 :
HaCy
T #~=CHp
[ 1 of HCl
; S / \\‘l | —
Options:
CH,
[.—-’ HT.-' .H""Hf _CI 13
e _F,.---"' ""--.,_H__’____f' I"--._H
41852939070, )
CH,
\".
s TN, _;:'___ CHZ_ C]
| L
41652939071, o H
CHj

- e /’
41650939070 e — H

CHy =€)
[--" : '*-H[-’*" L _CH;
2 TRl RO |
4185233307 3. = ”

Question Number : 38 Question Id : 4165299903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

freAferfaa arfufrn =1 921 3ae &
57 o
A~ MCH
- - ™, 2
[ J \/ HCI
AN —_——*

Options:



mh_# xhh_#._,-l'- H
41652939070, Cl
CH,4
b
_~__—_ »CH,—Cl
W
[ X
O / \H
41652939071, '
CHj

41652989072, ~"
CH, -l
[’ = u,:[.-" H_\H | CHTL
41652939073, T~ H

Question Number : 39 Question Id : 4165299904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product in the following
conversion is :

M l':-l:j_'.,\ e
- hrHsoecp, B o),
: T Heat
| T—
Options:
. VA N y
\ |
41652939074, Br
/ -
CH;0— (O )—CH,—CH-CHj
41852939075, E
A
HO—( () »—CH,—CH-CHj
"'\._ _.'" I
41652939076, Br

I\
HO—{ 1] ¥ EllH—CHZ—CHH,
\ i

41852939077, Br



Question Number : 39 Question Id : 4165299904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frefafaa = 3 98 300 2

—
i W

CI—qu—f‘? 1?_ CH=CH - CH, HBr (excess) ,
; ! / = Heat

.\='

Options:

7
CHy0—  —CH-CH,—CHs
\ |
41652939074, Br

41652939075, Br

41652939076, Br

HO— O — CH—CH,—CHj
kN ¥

41652939077, Br

Question Number : 40 Question Id : 4165299905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

15 :
CH,CH;
] 13C -——{-‘——-(‘1 %
COOCH,CHj
Options:
CH,CH,
H3C s e OCH,CHj
41652839078, COOCH,CH;



CO,CH,CH
CH,C=CHCH,

41652939079,
OCH,CH,
H3C HoyC s et CO,CH,CHy
41652939080, G

CH;CH,C =CH,

41652939081, Sl

Question Number : 40 Question Id : 4165299905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

Frefafan sAfufwa = 5= 39 ©

M
—
[
[
@
=l
—
[#5]

|

NaOEt
A

o
T

R LT BT ][

OOCH,CHj

Options:

=
]
har
L3

QU T

] LU

41652939078, OOCH,CH,
CO,CH,CH,
1652930079, —HaC=CHCH;
OCH,CH,4
H3C HoyC e et CO,CH,CHj
41652939080, CHj



CH;CH,C = CH,

41652939081, Sty

Question Number : 41 Question Id : 4165299906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The element that shows greater ability to
form p - pw multiple bonds, is :

Options:

41650939082, Db

41652930083, C

41652939084, O°

41652930085, oD

Question Number : 41 Question Id : 4165299906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

p - pr g =AM 1 Tl AF1 T 9rel
T e

Options:

41652939082, Ol

41652939083, C

4165259233054,

41652939085, N

Question Number : 42 Question Id : 4165299907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The pair that does NOT require calcination
15 ¢

Options:
41652939086, ZnO and Fe,05: xH,0

41650939087, £nC0;and CaO

41652939088, N0 and MgO



Fe,O, and CaCO 3 MgCO,
41652939089, e : .

Question Number : 42 Question Id : 4165299907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
% T

Options:

4165093908, 2nO T Fe,0y xH0

41652939057 ZnCO, 7491 CaO

41652039085, £n0O T4 MgO

Fe,O, 949 CaCO, Me(CQO
41652039089, 273 s G O

Question Number : 43 Question Id : 4165299908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The volume strength of 1M I—IZD:2 is:

(Molar mass of H,O,= 34 g mol 1)

Options:
41652359030, 26
416852939091, 11.35

41652030092, 16.8

4165259330393,

Question Number : 43 Question Id : 4165299908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
1M H,O, ¥ 180 3 § (H,0, &l Aol
EEHFE=34 T, 9 1)

Options:
41652939090, 2.6
41652939091, 1135

41652930052, 16.8



54
41552323033, 2.4

Question Number : 44 Question Id : 4165299909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct statement(s) among I to Il with

respect to potassium ions that are abundant

within the cell fluids is/are :

L. They activate many enzymes

[I. They participate in the oxidation of
glucose to produce ATP

[lI. Along with sodium ions, they are
responsible for the transmission of
nerve signals

Options:
41652939094, b Mand III

[ and II only

41652939095
41652939096, 1 only
41652930097, | and Hlonly

Question Number : 44 Question Id : 4165299909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
SHITIR T H Aged B9 H 91 S Al TeiaEH
AFA FHA H I H 1 H & 98 w9 /22
. 9 USTsH FI A9fFT 3 8
[I. o7& % ATFHEE R ATP & 59H

T 9rTerl & 2 |
[ HIfEaq A=A & 919, 913 & Tl
% H=0 % foru faeyen 2 2

Options:
41652939094, L 11 94T I

41652930095, Foa [ 4TIl

41652939096, ad I

41652930007, Faa [ G491 11



Question Number : 45 Question Id : 4165299910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The element that does NOT show
catenation is :

Options:

41652939098, O

41652939099, C

41652939100, ON

41652939101, 1P

Question Number : 45 Question Id : 4165299910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ST el Hervid A 9ol a6 @

Options:

41652939098, O

41652939099, O

41652939100, ON

41652039101, 1P

Question Number : 46 Question Id : 4165299911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Chlorine on reaction with hot and
concentrated sodium hydroxide gives :

Options:

41652939102 <103 and IO,

41652939103, 1 andClO;

41650939104 oF and ClO,

41652939105, <1 and ClO

Question Number : 46 Question Id : 4165299911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

41652939102, ClO, ™ warcio;

41652939103, C1™ @ ClO;
Cl™ a1 ClO,

416524939104, 2
Cl— a9 ClO

416852939105,

Question Number : 47 Question Id : 4165299912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct order of atomic radii is :
Options:
41652939106, Eu>Ce>Ho >N

41652939107, —¢>Eu>Ho>N

41652939108 N > Ce>Eu>Ho

41652939109, 10> N>Eu>Ce

Question Number : 47 Question Id : 4165299912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
o] s T S FE T
Options:

41652939106, Fu>Ce>Ho>N

41652939107, —¢ > Eu>Ho>N

41652939108 N >Ce>Eu>Ho

41652039109, 10> N>Eu>Ce

Question Number : 48 Question Id : 4165299913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The magnetic moment of an octahedral
homoleptic Mn(Il) complex is 5.9 BM. The
suitable ligand for this complex is :

Options:

41852939110, o

41652939111, NCS

416525939112, =N

41652939112 cthylenediamine

Question Number : 48 Question Id : 4165299913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T A=FeH emeiZd Mn(ll) F HFa Tl
JaFF 30 5.9 BM €1 3@ §Fd & oy
I Horl @

Options:

416525839110, co

41652939111, NCS

416525939112, =N

41652939112 cthylenediamine

Question Number : 49 Question Id : 4165299914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The upper stratosphere consisting of the
ozone layer protects us from the sun’s

radiation that falls in the wavelength region
of :

Options:
41652939114, 08-15nm

41652939115, 200-315 nm

41652939116, 400-550 nm

41650939117, 000-750nm



Question Number : 49 Question Id : 4165299914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
w4 % fafero 4 = 2, 59 aires 8
g

Options:

41652939114 08-15nm

41652939115, 200-315 nm

41652939116, 400-550 nm

41650939117, 000-750nm

Question Number : 50 Question Id : 4165299915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The compound that is NOT a common
component of photochemical smog is :

Options:
O
41652939118, 2

41652939119, CHz=CHCHO

4165259233120, LFELIE

H;C —C —OONO,
[l
41652939121, O

Question Number : 50 Question Id : 4165299915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Options:

O
41652938118, 7

41650939119, CHp=CHCHO

4165258233120, LFELIE



H;C —C—O0ONO,
|l
41652939121, O

Question Number : 51 Question Id : 4165299916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

8 g of NaOH is dissolved in 18 g of H,0.
Mole fraction of NaOH in solution and
molality (in mol kg ') of the solution
respectively are :

Options:

4165203910p 0167, 1111

418529391235, 0.2,11.11

41652939124, 0.167,22.20

41652939125, 02,2220

Question Number : 51 Question Id : 4165299916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
8 g NaOH %118 g H,O § Jren 7 € | faerem
T NaOH 1 9y 991 faa33 =1 grenfa2
(¥t wid fraiam) w99 ¢

Options:

41652939122, 0-167,11.11

41652930123, 02,1111

41652939124, 0.167,22.20

41652939125, 02,2220

Question Number : 52 Question Id : 4165299917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An open vessel at 27°C is heated until two
fifth of the air (assumed as an ideal gas) in
it has escaped from the vessel. Assuming
that the volume of the vessel remains
constant, the temperature at which the
vessel has been heated is :

Options:



41552939126, 00C

415523933127, 00K

415525839128, 750K

416525839129, 7B0°C

Question Number : 52 Question Id : 4165299917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
27°C W, ey Us o1 9T %I 99 % T T
WA T o q $UE Iy 9 (ed T
T4 ) % <1 % Ur=a W (2/5) T H fee
& 51| T2 " 5 O e e E
A o s = T fEm T R, aw 2

Options:
41652939126, A00°C
41652939127, 500K

41652939128 /20K

4165259239129, 750°C

Question Number : 53 Question Id : 4165299918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the de Broglie wavelength of the electron
in nt" Bohr orbit in a hydrogenic atom is
equal to 1.5 a, (a, is Bohr radius), then the
valueof n/z is :

Options:
41652939130, 10
41652939131, 1.90

41652930132, 075

41652939133, 040

Question Number : 53 Question Id : 4165299918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

7fe U BSeE WA H, nd (n') IR FaF
¥ fro S 1 € Al airesd 1.5 wa,
E‘I'{EEII%', o 11,?2?1'71{1:[%: (a,nii‘ﬂﬁ?ﬂ%}
Options:

41652939130 10

41652939131, 1.90

416525939132, 0.75

41652939133, 040

Question Number : 54 Question Id : 4165299919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The combination of plots which does not
represent isothermal expansion of an ideal
gas 1s :

A Y

\

e
O 1/V,, (@] Vi
(A) (B)
pvm ’ H
O P O v
(€ (D)
Options:

41652939134, (B) and (C)

41652930135, (A)and (D)

41652039136, (B)and (D)

41652939137, () and (C)

Question Number : 54 Question Id : 4165299919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



T A=Y T F THATIE GHI0 $1 T2 e
T A6 e ] T4 ©

RN

,
.Y
D dlr'!vrn D an
A (B)
IJVIH U H{_H_»-f"ﬂ{ i
e
Q) P Q. Y
(©) (D)
Options:
41652939134, (B} o (C]
41652939135, {A} T {D}
41852939136, {B} L (D]
41852939137, (A} Gl {L}

Question Number : 55 Question Id : 4165299920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Given :

(i) C/(graphite) +O,(g) — CO,(g)
ArH==x k] mol !

2 . 1 :
(i)  C(graphite) + 5 Oy(g) — CO(g);
ArH®=y k] mol .

(i) COg) + 5Os(g) > CO(e)

ArH<®=7z k] mol !
Based on the above thermochemical
equations, find out which one of the
following algebraic relationships is
correct ?

Options:
X=y +Z
4165293249128,



41652939139, ~ 4 F

41652039140, = X 1Y

41652939141, Y=22 X

Question Number : 55 Question Id : 4165299920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fem T -
(i)  C(graphite) + O,(g) — CO(g);
ArH® = x k] mol !

(ii) C (graphite) + % O,(g) — CO,5(g);
ArH® =y k] mol 1

| 1 )
(i) CO(g) + —~Oy(g) »>CO,(g);

ArH® =z k] mol !
I SRS THFE] 6 YR W
Fared fa A4 fau T dremfde a9 5 9
FF W HE B 7

Options:

]

x=1y
4165259331328,

-3

41652030139, © 7

41652939140, 2 X 1Y

41652039141, V=22 X

Question Number : 56 Question Id : 4165299921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Molecules of benzoic acid (C,H;COOH)
dimerise in benzene. ‘w’ g of the acid
dissolved in 30 g of benzene shows a
depression in freezing point equal to 2 K.
If the percentage association of the acid to
form dimer in the solution is 80, then w is :

(Given that K;=5 K kg mol I, Molar mass
of benzoic acid =122 g mol h

Options:

41650039142 108



41652939143, 158

41652939144, 218

41652939145, 1° 8

Question Number : 56 Question Id : 4165299921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

aiss 3 (C,H;COOH) & &1 =14 H
feafaa 2 €1 30 g == 4 gfea ‘w’ g o7
2 K % TR feqis § sfame g e 2
afe faemm ¥ a1e1 3 Ho =1 9faed 80 T AT
wHRHAAT

(fem %, K, =5Kkgmol ~! =g ufde
1 A 2599 =122 gmol 1)
Options:

41650939142 108

41652939143, 108

41652039144 248

41652939145, 1P 8

Question Number : 57 Question Id : 4165299922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If K., of Ag,CO;5 is 8 x 10 12 the molar

51
solubility of AgP_CDa in0.1M AgNOa is :
Options:

5 10
416525939146, §x10 M

5 11 3,
41652939147, 8x107 "M

. 12 1
41652939148, 57X 107 °M

8x10-13M
41529291449,

Question Number : 57 Question Id : 4165299922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



afg Ag,CO; HT K, 8x10°12 % =i

[ =P S =
Ag,CO,FT 0.1 M AgNO, H Hrer facram 2 -
Options: N

10
41652939145, 0X 107 M

11 3,
41652939147, 8x107 M

12
41652039145, ©X 107 "M

8x10-1PM
41652939149,

Question Number : 58 Question Id : 4165299923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Am forNaCl, HCland NaA are 126.4,425.9

and 1005 S emZmol ~ !, respectively. If the
conductivity of 0.001 M HA is

5x107°S cm ™!, degree of dissociation of
HA is:

Options:
41652939150, 025

41852939151, 0.125

41852939152, 0.50

41852939155, 0.75

Question Number : 58 Question Id : 4165299923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
NaCl, HC1 991 NaA & fau A, F09: 1264,
425.9 T 100.5 S cm?mol ~ ! 1 A2 0.001 M
HA 1 Fetdl 5% 10755 em~ ! &1 1 HA
o1 T A/ 2

Options:

41652939150 025

416525939151, 0.125

41652839152, 0.50



416525939153, 0.75

Question Number : 59 Question Id : 4165299924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For a reaction, consider the plot of In k
versus 1/T given in the figure. If the rate
constant of this reaction at 400 K is
10~ 251, then the rate constant at 500 K

15 ¢

R

b

Slope = —4606 K
In k

"-\.

™

T

Options:

41652939154, 10 451

41652939155, 10 %51

W
41652939156, 2<107"s

4 1
41652039157, 4x107%s

Question Number : 59 Question Id : 4165299924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Wﬁ%%ﬁ@ﬁﬁﬁﬁﬂﬁhkvs
1/T % e W fa=r #ifeu | afs sq safafen
F1 2 w400 K W10~ 5s 1 & /500K
T 3HH = FEmiE T

.S

,

Slope = —4606 K
Ink

T

Options:

41652939154, 10 s !

41652939155, 10 s~ 1



4.—1
41652939156, 210 "s

4 1
41652939157, 4X107%s

Question Number : 60 Question Id : 4165299925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Among the following, the false statement
15 :
Options:
Tyndall effect can be used to
distinguish between a colloidal
41652939155 solution and a true solution.

Latex is a colloidal solution of rubber
particles which are positively

41652039159, charged

It is possible to cause artificial rainby

throwing electrified sand carrying

charge opposite to the one on clouds
41650939160 from an aeroplane.

Lyophilic sol can be coagulated by

adding an electrolyte.
41552939161, =

Question Number : 60 Question Id : 4165299925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

frefafad § 9, 199 F99 & -

Options:
fom=dl w9 = 39T UF FAse fGead
e FrEfae faerad § Sm 31 & fou
41652939155, PN S T T

e, T o T 1 U i f[Faeaq
41652939159 & S TG B ¥

A F HEEd d Fge I ST
AEy ¥ faudia = afem W & Fo @

41652939160, e X O T FLEA HH 2



41652939161, feen s %I
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Question Number : 61 Question Id : 4165299926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let Z be the set of integers. If
A={reZ : 2x+2)(x"-5:+6)=1} and
B={xeZ: —3<2x—1< 9}, then the number
of subsets of the set A% B, is :

Options:
41652039162, 2
712
41652939163, 2
Al5
41652939164, <
13
41652939165, <

Question Number : 61 Question Id : 4165299926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT Z Yol 1 9= &1 afe
A={xeZ : 20+2)(x*-5xr+6)=1} qHI
B={xeZ : -3 <2x—-1<9}, @ AXxB®&
EQHQEH?M[ H T %’ -

Options:

41652030162, 21V



415525939163,

41552939164,

18
416529391685, 2

Question Number : 62 Question Id : 4165299927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The number of integral values of m for
which the quadratic expression,
(1+2m)xZ—2(1+ 3m)x +4(1 +m), xeR, is
aIwa}-'s positive, 1s :

Options:

41652939166, 8
41652939167, 7
416529393168, 6
416529331693, 3

Question Number : 62 Question Id : 4165299927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

m F 3 i AF, e fag ffae ==
(1+2m)xZ—2(1+3m)x+4(1+ m), xeR, T
ST €, T T €

Options:
41652039166, ©
41652939167,
41652039168, ©
3
41652939169,

Question Number : 63 Question Id : 4165299928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let z; and z, be two complex numbers
satisfying z; =9and |z,—3—41|=4. Then
the minimum value of |z; —z,| is :

Options:



41652939170,
416529309171, |
41652939172,

)
41652939173, <

Question Number : 63 Question Id : 4165299928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HAI z, 791 z, A ARG T T, [z, =9
M|z, — 3 —4i|[=4 P AFRFA G, Az, — 2,
1 AdH 91 € :

Options:
41652933170,

4165259233171,

.

4155233317 %2.

-2

416525823173,

Question Number : 64 Question Id : 4165299929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 sinf 1
If A=|—sin0 | sint | : then for all
1 sint 1

r

L4 4 )

Options:
[ 0, - —‘

(3w 5m)
O e , det (A) lies in the interval :

k2| L2

4165258233174,

e
k3| LR

4165258233175,

(3+]

41552333176,



b3 | L

|

Question Number : 64 Question Id : 4165299929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

41652939177, f

1 sin B 1
Igfe A=|-sinf 1 sin@|: @ T
1 sint ]

(3% 5mw).

ﬂe{f j:r & ferg, det (A) 15 9 frm
. '

Faue H fea g ?

Options:

4152929174,
3 _
5
(13]
2
4168524939175,
[ 3 J
_.-3
2
4152929176,
i
\;_féw
2"
4152929177,

Question Number : 65 Question Id : 4165299930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The set of all values of A for which the
system of linear equations
x—2y—2z=M\x
x+2y+z=Ay
—X—i=AZ
has a non-trivial solution :
Options:
41652939175, 152 singleton

41652939179, 1S an E'_‘ll'lpt}-' set



41652939150, contains exactly two elements

contains more than two elements
41552939181,

Question Number : 65 Question Id : 4165299930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A F I | T, e for Yigs aeiwm
IREE
x—2y—2z=Ax
x+2y+z=A\y
—X—Yy=AZ
=l Tsh AJ=S (non-trivial) g ER
Options:

41552323178, s %l

4165259233173, W %l

41652939180, P 9999 H HA <1 HTF 1

F I § 3 | wfaw aga
418529391851,

Question Number : 66 Question Id : 4165299931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

There are m men and two women
participating in a chess tournament. Each
participant plays two games with every
other participant. If the number of games
played by the men between themselves
exceeds the number of games played
between the men and the women by 84,
then the value of mis :

Options:

|

416525923182,

41652939183, 9

41652939184, 11

12
4165259239185,



Question Number : 66 Question Id : 4165299931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF S G § m 9%y 991 |1 Afgen
9 T2 g e (participant) T
R E I e T | (games) e g
Ffg THU1 = == ATTH H Wel T TH ] G,
TEY| a1 Afeen | % = Wl T4 TH FH HEA
A ATFE, A mFIA T :

Options:

|

41652939182,
41652939183, 9

41652939184, 11

12
4165259239185,

Question Number : 67 Question Id : 4165299932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The total number of irrational terms in the

1- 1. + bl
binomial expansion of T — 3 is:
\ y,
Options:
41eE2939186. 48

41652939187, 49

41652939188,

415525939189,

Question Number : 67 Question Id : 4165299932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

; 360
[? > 310 & fgue YR | g wEi
\ it

F1 Pl T E ;
Options:

416525939186, 48



41852939187, 49

416529391858,

416525939189, 55

Question Number : 68 Question Id : 4165299933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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If "C,, "Cs and "C, are in A.P., then n can
be:

Options:
41852939190,

41652939191, 11
41652939192, <

418529391935, 14
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-

Mg "C,, "C, FAC, TR FH H & AAn &
TFHAI 2
Options:

418529391390, ?

41652939191, 11

12
4155239231 3%2.

418529391935, 14
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If the sum of the first 15 terms of the series

2 .3 3 \3
{iﬁl | [1l\| | {21] 5o (32 4
4 2) \ 4 &R

4,

is equal to 225 k, then k is equal to :

Options:



418529391394, *

=

41652939195, 2/

418529391396, S

41652939197, 108
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Iz gof

raee. \3 3 o f a3

(2] +[12]+ [2L] #2® + (2] 4.
4 L 2] \ 4) . 4)

% 99H 15981 1 A7 225k F E B, a4 k
L B

Options:

415523231394, 4

=

41652939195, 2/

415523923136, >

41652939197, 108
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lim Jr x."llrain_lx ) s
1 is equal to:
r—l— 1l —x
Options:
||'E
o
41552939198,
[
V2
41652939199,
1
7

|

41852939200,



=

415525939201,
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1

. T — N2sin” " x
lim e .
x—1— W1 X
Options:
II'E
\a
41524939198,
[m
V2
41652939199
1
g .
41652939200, T
-
41eE2a39201.
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Let f be a differentiable function such that
f(1)=2 and f'(x)=f(x) for all xeR. If
I(x)=f{f(x)), then h'(1) is equal to:

Options:

,
41652930202, 2€°

41652939203, 3

41652939204, 2©

"
41852939205, de
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Wﬂm$ﬁﬁammﬂq TR E f1)=2
aq1 991 xeR & AU f'(x)=f(x) . AT
h(x)=f{f(x)), Th' (1) TR

Options:

2
41652939202, 2€

416525933203, de

416529239204,

41552323205,
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The tangent to the curve yzxz-Sx + 5,
parallel to the line 2y=4x +1, also passes
through the point :

Options:
';.7 l\'|
27 4
416529339206,
[1 :—’“|
LY 4 . 2(_.'
41652939207,

41652939208,

4165259233209,
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El?ﬁy=;rz—5x +5 T =¥ 1@, & 1@
Qy=dx+1FTFR E, FrA d A frm fag @
BT S €2

Options:



=,

-

k| =1
Hes |

41852939205,
[1 :?“‘-|
4.2
41652939207,

416852939208,

4165258233209,
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If the function f given by
flx) = —3(a—2)x*+ 3ax +7, for some aeR
is increasing in (0, 1] and decreasing in
[1, 5), then a root of the equation,

flx) - 14
= —=0(x=1);g.
(1_ 1)2 ( } is :
Options:

41852929210, 7

41652939211, °
A

41650939212,

41652939213, 7
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Ffg Fer fx) =x— 3(a —2)x2+ 3ax + 7, fwd
aeR & faTu, (0, 1) asmm & 91 [1, 5) 8 2w

s a f—14 _

%.?HWW'“ —=0(x 2 1) mus
(x 1)

%’E’f%:

Options:

41652039210, 7



41852939211, 5

41552392321 %. 6

-

41652939212, ¢
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31,13 | 21,11
dx

The integral J(Ex'* F 32 4 1]4 is

equal to :
(where C is a constant of integration)
Options:
4
X
= +C
6 (2,&:4 F3x2 + 1 }
41652939214, '
12
X :
— +C
6(2;: + 3x |l)
41652939215,
4
»
F C
4 3
(21 F3xc 4 1)
416529349216,
12
X
+ C
4 \3
(Ex F 3x I'i)
41652939217,
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' 3213 | o1l ;
THEFA 4 > ¢ d
(Ex + 3x° 4 1]

(W&l C THIFHeH 1 T HAILE)

Options:



= +C
6(2,&:4 | 312 | l}'
4152939214,
12
x :
— +
4 5 3
6(2,1* + 3x |l]
41eE2939215,
4
»
+ C
4 \3
(2;&. F3x< 4 l]
41552939216,
12
X
+C
4 \2
(21 F 3x I’i)
4152939217,
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=

¢ on2x r X
X

The integral j ~LTJ = l;—J] [’ log, x dx
1

is c-quaI o :
Options:
3 1 1
2 e 282
416524939218, ek
k| 1
P t-' ——
2 2!.‘2
41652939219
1 | 1 1
2 e 22
41652939220,
T 1
5 T2
41652939221, €
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i F ydx p :I\.I.'t'-
EFWEHIIlt%J "LiJ}'“%EIdI
1

AR
Options:
3 | 1
£ 2&‘2
41652939215,
3 .
2 EL‘Z
41652939219,
1 | 1 1
2 € ¢
41652939220,
1 1 1
AT
41652939221, €

Question Number : 76 Question Id : 4165299941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
lim " = it = =t ,J" o T £
a—se \n" +1°  nT +2° a4+ 3 on

is equal to :

Options:
41652930222,

1
416525939223, 3)

s
41652930224, /4

415523933225,
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i | n : n n 1)

im - - - - e —
) 2 ) 3 El

nso \ 0~ + 1° n- + 2° n- +3° 5n |

T T :
Options:

. 1
41652939222, AN (2)



: 1
41652939223, @An (3)

41652939224, /4

416525833225,
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If a curve passes through the point (1, —2)
and has slope of the tangent at any point

7.
g
(x, y) on itas el . , then the curve also
x
passes through the point :
Options:
416525939226, (3.0)
41652939227, (712
-3
d1B525933228. ( \III._ )
(v3,0)
416525939229,
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7Ife e =k Tawg (1, —2) W SR oIl € a1 54
T foREt fag (v, y) T E991 W@l 1 2 (slope)

L
IR e e H G fw fag

X
T a8 2
Options:
41652939226, (3,0)

41652939227, (-1,2)

(-\2.)

416525939 22E.



(+5.9)

415523933229,
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If a straight line passing through the point
P(—3,4) is such thatits intercepted portion
between the coordinate axes is bisected at
P, then its equation is :

Options:
4x +3y=0
41652939230,

41652939231, ¥ Y +7=0

41650939230 X ~4y+25=0

4x—3y+24=0
416552939253,
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Afg famg P(— 3, 4) T T 911 916l T T
T 39 WER ¢ T s e e % A
Aa:@fved 9F1 &1 929 fag P ¥, o1 sHe

T E
Options:
iy +3y=0

41652939230,
41652039231, ¥ Y +7=0
41652939232, X —4y+25=0

Ay —3y+24=0
41652939233,
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If a circle of radius R passes through the
origin O and intersects the coordinate axes
at A and B, then the locus of the foot of
perpendicular from O on AB is :

Options:



4 AN S | o
41652939234 (- HY7) =4R%7y”

2D A2 22
41652939235, (X Ty =4R=%

2, N 4.2
41652939236, (X~ +y7 ) =4Rx7y”

24+ 1y2)(x+ 1) =R2n
415239237, { Y }{ L} Y
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7fg R =31 1 & 99 9e1 a5 O 9 2 oIl
% Ten fewie 218 F1 A SR B W e g,
O ¥ @1 AB W =6l T4 w5 o g = faguy
g

Options:

4165293934, (X7 +Y7) =4R%%°

200 2.2
41652939235, (- Ty =4R=%

L
41652939236, (X~ +y7 ) =4Rxy”

24+ 1y2)(x+ 1) =R2n
415239237, { Y }{ L} Y
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The equation of a tangent to the parabola,
xz=3y, which makes an angle 6 with the
positive direction of x-axis, is :

Options:

41650939035, ¥ =X tanb—2 cotf

41652939739, Y=Y cotd +2 tand

41652039040, ¥—Y cotd—2 tand

41652939241, Y =¥ tand+2 cotd
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A x2 =8y T TFH Tq9 @, Sl x-HAY Hl
YT fo9T % 19 101 0 I 8, 1 IHE

2

Options:
41652939235 ¥=X tanB—2 coth

41652939239, Y=y cotb +2 tand

41652039040, ¥—Y cotd—2 tand

4165293924, Y= X Bn0+2 coth
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Let S and S’ be the foci of an ellipse and B
be any one of the extremities of its minor
axis. If AS'BSis a right angled triangle with
right angle at B and area (AS'BS)=38 sq.
units, then the length of a latus rectum of
the ellipse is :

Options:
41652939242, 2

p
41852939243, 2“}{:

41852939244, 4£

41852939245,
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T U <9 &t AIT9A1S 1S € 9941 T0F
T 3187 1 FIE UF WG B ¥ AE AS'BS TR
T Y & e aaFm B W a9 AS BS
T A 8 T THEE €, o erHgd F UH
ferea Sial =1 o= ©

Options:

4165259239242,

.2\5

416525923243,



R s
! 2
41652030244, V2

41852939245, 4
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If an angle between the Iline,

x+1 wy=—2 z-3
= = and the plane,

2 1 2
/ \

N
x—2y—kz=3is cos I £ , then a value
of kis:

Options:

3
41652939245 13
||’-}

4165259233247, ‘\I 2

| e

4165259239248,

W |

4165259392485,
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" x+1 s z—3
Ife =Y = sl LR

| (28)

4

b3

2y

x-—Zy—kz:E%Ea':tﬁ & FU cos 1{

T AkFTFAA T :
Options:
. IIE

4165258233246, \‘l 3



o

4165259239247, \IS
3
5

4165259339248,

W |

41852939249,
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Let S be the set of all real values of A such
that a plane passing through the points
(—A2,1,1),(1,—A%, ) and (1,1, — A?) also
passes through the point(—1, —1,1). Then
Sisequalto:

Options:

416525933250,

416525933251,

41652939252,

{3, 3}

416525933253,
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A )\ & 37 FH] Freiass 7HI, Toren fom fargadi
(=22,1,1), (1,-22, 1)@= (1,1, —A3) 9
B S 9 Ua 7904, fag (-1, =1, 1) ¥
i B A, FATAIS T, WS A T -

Options:
I =1
41652939250, (V3
41650039051 11 1}
{3, -3}

¥

416525939252,



{J3, 3}

416525939253,
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—+ —* — )
Let a, b and ¢ bethree unit vectors, out

— —+
of which vectors 1, and ¢ are non-parallel

_}
If « and P are the angles which vector a
—5 .—}
makes with vectors  and ¢ respectively
oy -
and a X|b x c1=
. J

[ -
— b, then la—plis
2

equal to :
Options:

o 15
415523923254, 60

# L]
416525939255, 45

Le]
416525939256, 30

i
41E528939257. %0
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—  —» —» papod
AT a, b 99 ¢ oF UwE afew 2, T 4
qfew | 99 ¢ FATERR ¥ afE 9fewm g,

—

W e -, -
fewi |, T ¢ 9 FAMW: Fa AP FA@ S

—> — — ) 1 =+ x
3$R ax|bxc|==b,da—p|90da
s ) 2
Options:
o
41652939254, 60
Ao
41652939255, 4
30°

416525933256,



ke
41852939257, 0
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The mean and the wvariance of five
observations are 4 and 5.20, respectively.
If three of the observations are 3,4 and 4 :
then the absolute value of the difference of
the other two observations, is :

Options:
41652939258, 1

41652039259, 2

416525933260,

]

416525939261,
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Tig GEIUT FT T qYT GEIV] F I
4991520 | Ifg 59 Feqoii § W3, 4 q4
T, 1 o <1 YeAvii °F S o R (absolute)
HH % :

Options:

41652939258, |

41652039259, 2

416525933260,

]

416525939261,
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In a class of 60 students, 40 opted for NCC,
30 opted for NSSand 20 opted for both NCC
and NS5, If one of these students is selected
at random, then the probability that the

student selected has opted neither for NCC
nor for N55 is :

Options:



=

41652939262
2
41652939263, O
5
41652939264, ©
1
3
41652939265,
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60 BRI Tl T a1 |, 40 7 NCC &, 309
NSS =it §41 209 NCC 3R NSS =Hi «f | 4fg
T U UF B A9 I T, 9 99 8
BEA F 9 a1 NCC, 7 & NSS T &l Wifasha

2:

Options:
1
41652939262, O
2
41652939263, O
5
41652939264, ©
1
3
41652939265,
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In a game, a man wins Rs. 100 if he gets 5
or 6 on a throw of a fair die and loses Rs. 50
for getting any other number on the die. If
he decides to throw the die either till he gets
a five or a six or to a maximum of three
throws, then his expected gain/loss (in
rupees) is :

Options:



400
— loss
41652939266, 0

400
— loss

A1B525933267.

400
—  gain
41652939268, 3 &

415523923269,
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UF e H UF FAAG IH FEA TS5 A6
AN W UF =l 100 %, Siad & 99 T W
T I GBI AH W50 % eRAl &1 afT =%
TE 79 F1 & o 92 91 79 9 IH Feh o
TEH 5 T1 6 7 37 T A9 AfF J F T
T 9T R, T S Hiad arye (T
W) ¥

Options:

41652939266, 9

416525939267,

416525939265, 3

416525933269,
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If sinto + 4 casﬂ% + 2= :lsJ'E sin o cos b ;

o, Be|0, 7], then cos(a+ B) —cos(a—B) is
equal to :

Options:

2

41552333270,



41852939271, "'IE

41852939272, 0

416525939273,
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afe
sina + -—1::094{3 + 2= —1\5 sin « cos B, a,
Be[0, w] T cos(a+ B) — cos(a—P) FIE

LE

Options:

4165259339270,

41652939271, "IE

41852939272, 0

416525933273,
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[f the angle of elevation of a cloud from a
point P which is 25 m above a lake be 30°
and the angle of depression of reflection of
the cloud in the lake from IP be 60°, then the
height of the cloud (in meters) from the
surface of the lake is :

Options:

41852939274, 60

41652939275, U
41652939276, 40

41652030277, 42
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TF Hd H 25 m W F a5 P H UF 96
1 SAFA FIU 30° AP A A | e F
yfafar 1 SF5T97 0 60° €, T e H T
T a5 (e H) B

Options:

415528939274, 60

41852939275, 50

41652939276, 40

41652939277, 12
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The expression ~(~ p —» q) is logically
equivalent to :

Options:

41652039278, © 1

A
41852939279, P 1

41652939280, P 4

41650939081 P 4T
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EﬂEIEr'?"*("*p > q) = | 4 g+ 76 97
T ?
Options:
41652939278,

41652939279
41652939280, P 4

stesoozgssy. P4



